Oboe Audition Repertoire

PRINCIPAL OBOE

Solo Selection (recommended) Mozart - Oboe Concerto in C- Major,
Mvt. 1 (exposition)

Beethoven - Symphony No. 3, Mvt. 2, m. 8 - 47

Brahms - Violin Concerto, Mvt. 2, m. 1 - 32

Ravel - Le Tombeau de Couperin, Mvt. 1, Beginning to [2]
Ravel - Le Tombeau de Couperin, Mvt. 3, Beginning to [4]
Rossini - Overture to La Scala di Seta, Beginning to [3]
R. Strauss - Don Juan, 4 bars after [L] to 2 bars after [N]

Stravinsky - Pulcinella Suite, Serenata [8] to [10], Gavotte, and First
Variation

Rimsky-Korsakov - Scheherezade, Mvt 2, [A] - [B]
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Maurice Ravel
Le Tombeau de Couperin
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Ravel — Le Tombeau de Couperin
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Rimsky Korsakov: Scheherazade, Op. 35, Mvt. 11
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Mravinsky

2. Serenata
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Rimsky Korsakov: Scheherazade, Op. 35, Mvt. 11
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